ERRIERRE25S(C DT (E14R)

30510868
ERET K EERARE
EEE711—4056

(ERE304E10 A6 HOBFIRTE)
1 EHEOABR
A H =3 figl N =
108058 16:51 HMESEER X
108058 22:01 REZEHR RE
2 MiEES
A H i i 2 = A =]
108058 18:00 1EIRINE RE SRR Bhi - fEt B R4
108058 22:01 FERETKEERAIEE E1EEE 6304

3 K%4k%(G5A 18:00 ~ 6H 09:00 )

IH H BH B %
= REE 105m/s (6H04:41 {ERTHRRK)
BABEREEZE | 216m/s (6H04:32 fBEATHRK)
TRRARERR)| thFKESEFHEFT 15.0mm
R A HIKIREFEFT 7.5mm (68 07:00~08:00)
AR ) == Omm (6 H107.00~08.00)
THRAFEERE)| LXARE 13.0mm
MO RRREEHE)| L RAR 7.0mm(6H07:00~08:00)
4 EZEBRERR
A B B M| M
10805H 19:31 174cm
108068 07:24 192cm
5 ISR
baIES £ i (%A E B K AL (mm) fetp ] icd
IXABBRKEIEBZ 5 IE L.
| I
6 fMEWRNR
(1) NHOE AN
(2)EYHE AN
(3)Z Mt

OffIR 14 (FAR 1)
OEMREE 14 (RE1#)

7 BERFEREFOKR
(1) EEEIER

BEL
() BEa#H
(R K]
(EZRX]

13175134
BAFBARE (SHEFH34) , EHTRARE (1#F148)
MIE A RE (21FH24)

(PREX])
(RRE]

(@ K]

B InRE (1#E
BRE&H (25
AR (1H#5F
SELRE (1H#F

»
%
%
%

%
)
)
)

3
i
i

/A

L
73

3
/A
/A

£E
R
R

(2t#F24) ,
fE (OtHO4R)
£ (OtFO0R)




